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given angle; and tt.the trage LG shal differ fraiti the triangle.
LGF by a space less, titan any giveu space, the surn of its angles at the
saine tim-e differiing from the suin of the angles af the triangle LGF
by an angle less thau any giveh angle; and sa on, tilt the wyliale of
the triangle LI3D lia,, beea exhausted, except a reinainder LBE, whiieh
is less thit the triangle ta, which it is adjacent. I'i'ceed next ta
divide the triangle LDC into triangles L)YE, LUII, &c., related ta the
triangle LFD and ta one irnother' in the saine ruanner as the triangles
LFG, LGGI, &e.; the reinaindet' LMC being fitially left over, I.ess
than the triangle ta wvhicli it is adjacent. Theni, since miy two adja-
cent triangles in the series,

LDF, LFO, L('G 1 , &e..........1

which together Coustitute the triangle IIIE, inay be mnade as ncarly
eqnal as wre please, ive cati make every one of thern as ticarly equal to
the first as ive please. Aud, front a siînilar consideration, it appears
that we cati at the saine tirne rake the suin of the angles of any tri-
angle iii the,'series as nearlv eqtzal &s we please ta the sunt of the
angles of tThe first. In like u Nner wecau iake every' one af the
triangles ini the se-ries,

LD'l, LTII, &c.,............ ... 2)
çt

whirh tagether constitute the trianl&e LJ)M, as neary equal ta tDF
as ive please; thue suin of the angles aof eaeh being at the saine tizne
mnade as nearly equal as we pleuse ta, the suin af the aizï.gles of the tri-
angle tDF. Let there be N terni in die series (1), alnd n in the-
series (2). Vien

LED = Ntiîes LFD 2.Q;...............(3)

Qbeing a qwmntity -vhich %ve nîay arrange to. have as sotaîl as we
please. lit like inanner,

LNMD = it times LFD o......(4)

qbeinig a qualitity which we nîay arrange ta have as sînali as we-
please. Again, if' Si bc the sum af the anglesïof the triangle LED>

l1te suofa the angles af the triangle LFG, S1 -e2 the
sutti of the angles of the triangle LGG,, and sa an, and S2, the sain
af the angles af the triangle LED, we 'have

2-S 2 ~N(2-SI) ,-A;........


